MAR 2 2 2021

Approved

REQUEST FOR AGENDA I	PLACEMENT FORM
Submission Deadline - Tuesday, 12	:00 PM before Court Dates
SUBMITTED BY: Rexann Knowles	TODAY'S DATE: 03/15/2021
DEPARTMENT: COUNTY JUDGE	
SIGNATURE OF DEPARTMENT HEAD:	X
REQUESTED AGENDA DATE:	March 22, 2021
SPECIFIC AGENDA WORDING: Consider	deration of Patterson Professional
Services, LLC as the Contractor for TxCDBC	
Improvement Project FM4, CR 1121 in the A	mount of \$230,711.25
(Comments: This bid is over the budgeted am will be paid by Johnson County SUD) PERSON(S) TO PRESENT ITEM: Rexant SUPPORT MATERIAL: (Must enclose sur	n Knowles
TIME: 2 minutes	ACTION ITEM: X WORKSHOP:
(A41-14-11	
(Anticipated number of minutes needed to discuss it	
	EXECUTIVE:
STAFF NOTICE:	
COUNTY ATTORNEY: XX IT I	DEPARTMENT:
AUDITOR: XX PUI	RCHASING DEPARTMENT:
PERSONNEL: PUI	BLIC WORKS:
BUDGET COORDINATOR:OTI	HER:
*********This Section to be Completed I	by County Judge's Office********
ANII THE LACTE	NDA DATE.
	INDA DATE:
	UDGE'S OFFICE
	UDGE'S OFFICE



March 03, 2021

Honorable Roger Harmon, County Judge & County Commissioners
Johnson County Commissioners Court
Johnson County Courthouse, RM. 201
Cleburne, Texas 76033

RE: Waterline Improvement Project FM 4 CR 1121

TxCDBG #7218250

Dear Honorable Roger Harmon and Commissioners:

Attached please find the bid tabulation for the Waterline Improvement Project FM 4 CR 1121 TxCDBG #7218250. The bids were opened on Thursday, February 4, 2021 at 2:00 pm. There were six (6) bidders for the project. The lowest responsible bidder was Patterson Professional Services, LLC., Collinsville, TX. The base bid amount is \$230,711.25. The bid is over the budgeted amount for the project. The construction budget is \$218,500.00.

Patterson Professional Services, LLC. has successfully constructed other projects for Daniel & Brown Inc. in the past and as such DBI believes they have the experience and resources to successfully fulfill the requirements of the project. Johnson County SUD will be paying the costs in excess of the budgeted amount so that the entire project can be completed. It is the recommendation of Daniel & Brown Inc. to consider award of the project to Patterson Professional Services, LLC. in the amount of \$230,711.25.

If you should have any questions or need additional information, please feel free to contact me.

Sincerely

Eddy Daniel, P.E.

EDDY W. DANIEL

72181

72181

70NAL

March 03, 2021

DANIEL & BROWN INC.

118 MCKINNEY STREET | PO BOX 606 | FARMERSVILLE, TEXAS 75442

OFFICE 972-784-7777 | www.dbiengineers.com

FIRM REGISTRATION NO: F-002225



Johnson County on behalf of Johnson County Special Utility District

Bid Tabulation form for the Waterline Improvement Project FM 4 CR 1121 TxCDBG #7218250

Bid Date: Thursday, February 4, 2021 at 2:00 p.m.

		Willco Underground Mansfield, TX			Balcones Ridge Construction, LLC Marble Falls, TX			
ITEM#	ITEM DESCRIPTION	Qty	Unit	Total	Qty	Unit	Total	
1	Furnish and install 6" DR 18 C-900 PVC waterline with appurtenances	7365	\$30.00	\$220,950.00	7365	\$32.00	\$235,680.00	
2	Furnish and install open/cut and repair driveway crossings with appurtenances	415	\$20.00	\$8,300.00	415	\$17.00	\$7,055.00	
3	Furnish and install driveway/ tree bore with 6" PVC and SDR 35 PVC encasement with appurtenances	105	\$200.00	\$21,000.00	105	\$228.00	\$23,940.00	
4	Furnish and install gas line crossing with 6" PVC and SDR 35 PVC encasement with appurtenances	50	\$275.00	\$13,750.00	50	\$228.00	\$11,400.00	
5	Furnish and install creek bore with 6" Diamond Lok-21 C900 DR-18 PVC with appurtenances	250	\$200.00	\$50,000.00	250	\$248.00	\$62,000.00	
6	Furnish and install County Road bore with 6" PVC and SDR 35 PVC encasement with appurtenances	35	\$300.00	\$10,500.00	35	\$228.00	\$7,980.00	
7	Furnish and install Farm to Market Road bore with 6" PVC and 12" steel encasement with appurtenances	85	\$300.00	\$25,500.00	85	\$228.00	\$19,380.00	
8	Furnish and install 2" cast iron square head FIPT gate valve with appurtenances	2	\$1,000.00	\$2,000.00	2	\$885.00	\$1,770.00	
9	Furnish and install 6" cast iron MJ square head gate valves with appurtenances	2	\$1,500.00	\$3,000.00	2	\$1,800.00	\$3,600.00	
10	Furnish and install 6" cast iron FLxMJ gate valves with appurtenances	3	\$1,500.00	\$4,500.00	3	\$2,200.00	\$6,600.00	
11	Furnish and install ductile iron fittings with appurtenances	0	\$22,500.00	\$4,500.00	0	\$6,800.00	\$1,360.00	
12	Furnish and install connections to existing waterlines with appurtenances	6	\$2,000.00	\$12,000.00	6	\$1,200.00	\$7,200.00	
13	Furnish and install short side service reconnection with appurtenances	22	\$500.00	\$11,000.00	22	\$600.00	\$13,200.00	
14	Furnish and install long side service reconnection with appurtenances	7	\$750.00	\$5,250.00	7	\$450.00	\$3,150.00	
15	Mobilization, Bonding, and Insurance	1	\$18,000.00	\$18,000.00	1	\$20,000.00	\$20,000.00	
	TOTAL OF ALL BID ITEMS (1 THRU 15)			\$410,250.00			\$424,315.00	
	CALENDAR DAYS	120/150				120/130)	



Johnson County on behalf of Johnson County Special Utility District

Bid Tabulation form for the Waterline Improvement Project FM 4 CR 1121 TxCDBG #7218250

Bid Date: Thursday, February 4, 2021 at 2:00 p.m.

		Patterson Professional Services, LLC Collinsville, TX			Tex-Pro Construction, LLC Forth Worth, TX			
ITEM#	ITEM DESCRIPTION	Qty	Unit	Total	Qty	Unit	Total	
1	Furnish and install 6" DR 18 C-900 PVC waterline with appurtenances	7365	\$15.00	\$110,475.00	7365	\$24.00	\$176,760.00	
2	Furnish and install open/cut and repair driveway crossings with appurtenances	415	\$10.00	\$4,150.00	415	\$10.00	\$4,150.00	
3	Furnish and install driveway/ tree bore with 6" PVC and SDR 35 PVC encasement with appurtenances	105	\$90.00	\$9,450.00	105	\$130.00	\$13,650.00	
4	Furnish and install gas line crossing with 6" PVC and SDR 35 PVC encasement with appurtenances	50	\$90.00	\$4,500.00	50	\$60.00	\$3,000.00	
5	Furnish and install creek bore with 6" Diamond Lok-21 C900 DR-18 PVC with appurtenances	250	\$110.00	\$27,500.00	250	\$130.00	\$32,500.00	
6	Furnish and install County Road bore with 6" PVC and SDR 35 PVC encasement with appurtenances	35	\$90.00	\$3,150.00	35	\$130.00	\$4,550.00	
7	Furnish and install Farm to Market Road bore with 6" PVC and 12" steel encasement with appurtenances	85	\$140.00	\$11,900.00	85	\$160.00	\$13,600.00	
8	Furnish and install 2" cast iron square head FIPT gate valve with appurtenances	2	\$750.00	\$1,500.00	2	\$550.00	\$1,100.00	
9	Furnish and install 6" cast iron MJ square head gate valves with appurtenances	2	\$1,000.00	\$2,000.00	2	\$1,200.00	\$2,400.00	
10	Furnish and install 6" cast iron FLxMJ gate valves with appurtenances	3	\$1,000.00	\$3,000.00	3	\$1,200.00	\$3,600.00	
11	Furnish and install ductile iron fittings with appurtenances	0	\$10,000.00	\$2,000.00	0	\$6,750.00	\$1,350.00	
12	Furnish and install connections to existing waterlines with appurtenances	6	\$2,000.00	\$12,000.00	6	\$600.00	\$3,600.00	
13	Furnish and install short side service reconnection with appurtenances	22	\$800.00	\$17,600.00	22	\$600.00	\$13,200.00	
14	Furnish and install long side service reconnection with appurtenances	7	\$1,500.00	\$10,500.00	7	\$600.00	\$4,200.00	
15	Mobilization, Bonding, and Insurance	1	\$10,986.25	\$10,986.25	1	\$8,000.00	\$8,000.00	
	TOTAL OF ALL BID ITEMS (1 THRU 15)		-	\$230,711.25			\$285,660.00	
	CALENDAR DAYS	120/150		105/105				



Johnson County on behalf of Johnson County Special Utility District

Bid Tabulation form for the Waterline Improvement Project FM 4 CR 1121 TxCDBG #7218250

Bid Date: Thursday, February 4, 2021 at 2:00 p.m.

		Day Services, LLC Cleburne, TX			Excel Trenching Carthage, TX			
ITEM#	ITEM DESCRIPTION	Qty	Unit	Total	Qty	Unit	Total	
1	Furnish and install 6" DR 18 C-900 PVC waterline with appurtenances	7365	\$25.00	\$184,125.00	7365	\$18.70	\$137,725.50	
2	Furnish and install open/cut and repair driveway crossings with appurtenances	415	\$25.00	\$10,375.00	415	\$52.30	\$21,704.50	
3	Furnish and install driveway/ tree bore with 6" PVC and SDR 35 PVC encasement with appurtenances	105	\$103.50	\$10,867.50	105	\$100.80	\$10,584.00	
4	Furnish and install gas line crossing with 6" PVC and SDR 35 PVC encasement with appurtenances	50	\$97.50	\$4,875.00	50	\$119.50	\$5,975.00	
5	Furnish and install creek bore with 6" Diamond Lok-21 C900 DR-18 PVC with appurtenances	250	\$95.00	\$23,750.00	250	\$77.28	\$19,320.00	
6	Furnish and install County Road bore with 6" PVC and SDR 35 PVC encasement with appurtenances	35	\$105.00	\$3,675.00	35	\$101.92	\$3,567.20	
7	Furnish and install Farm to Market Road bore with 6" PVC and 12" steel encasement with appurtenances	85	\$212.00	\$18,020.00	85	\$209.44	\$17,802.40	
8	Furnish and install 2" cast iron square head FIPT gate valve with appurtenances	2	\$950.00	\$1,900.00	2	\$1,176.00	\$2,352.00	
9	Furnish and install 6" cast iron MJ square head gate valves with appurtenances	2	\$1,400.00	\$2,800.00	2	\$1,400.00	\$2,800.00	
10	Furnish and install 6" cast iron FLxMJ gate valves with appurtenances	3	\$1,450.00	\$4,350.00	3	\$1,456.00	\$4,368.00	
11	Furnish and install ductile iron fittings with appurtenances	0	\$39,050.00	\$7,810.00	0	\$7,840.00	\$1,568.00	
12	Furnish and install connections to existing waterlines with appurtenances	6	\$1,850.00	\$11,100.00	6	\$1,792.00	\$10,752.00	
13	Furnish and install short side service reconnection with appurtenances	22	\$450.00	\$9,900.00	22	\$2,016.00	\$44,352.00	
14	Furnish and install long side service reconnection with appurtenances	7	\$625.00	\$4,375.00	7	\$4,480.00	\$31,360.00	
15	Mobilization, Bonding, and Insurance	1	\$18,330.00	\$18,330.00	1	\$20,160.00	\$20,160.00	
	TOTAL OF ALL BID ITEMS (1 THRU 15)			\$316,252.50			\$334,390.60	
	CALENDAR DAYS					0		